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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

uksV % ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answ er Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

uksV % [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. The distribution of wage in a factory is given below.

Find the mode :

W ages No. of W ork ers

0–10 6

10–20 10

20–30 10

30–40 16

40–50 12

50–60 8

60–70 7
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,d QSDVjh esa etnwjh dk forj.k fuEu lkj.kh esa fn;k x;k gSA

Hkwf;"Bd (cgqyd) Kkr dhft, %

etnwjh deZpkfj;ksa dh la[;k

0–10 6

10–20 10

20–30 10

30–40 16

40–50 12

50–60 8

60–70 7

2. Explain the term ‘Dispersion’. What are the various

methods of measuring dispersion ?

vifdj.k dks le>kb,A vifdj.k dks ekius dh dkSu&dkSulh

fof/k;k¡ gSa \

3. What is meant by Correlation ? Explain any one  formula

for the calculation of coefficient of correlation.

lglEcU/k ls vki D;k le>rs gks \ lglaca/k xq.kkad ds fy,

,d lw= dk o.kZu dhft,A
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4. What is Time Series ? Explain briefly its various

components and importance.

dky Js.kh D;k gS \ buds fofHkék la?kVd vkSj egRo la{ksi esa

Li"V dhft,A

5. (a) Explain the law of addition and multiplication in

probability theory.

izkf;drk fl¼kUr ds ;ksx vkSj xq.ku ds fu;e dh O;k[;k

dhft,A

(b) Define probability. Is probability always related

to only one event ? Give suitable examples.

izkf;drk dh ifjHkk"kk nhft,A D;k izkf;drk lnSo ek=

,d ?kVuk ls gh lEcfU/kr gksrh gS \ mi;qZDr mnkgj.k

nhft,A

Section–B

([k.M–[k)

Sh ort Answ er Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV % [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. What are the objectives of diagrammatic presentation ?

fp=e; izn'kZu ds mís'; D;k gS \

2. Write down the difference between primary and

secondary data.

izkFkfed ,oa f}rh;d laedksa esa vUrj crkb,A

3. What is the necessity of classification ?

oxhZdj.k dh D;k vko';drk gS \

4. State three advantages of graphic presentation.

fcUnqjs[kh; izn'kZu ds rhu ykHk crkb,A

5. Calculate the mean from the following data :

W age s No. of w ork ers

0—10 8

10—20 12

20—30 20

30—40 6

40—50 4
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fuEu vkdMks ls ek/; Kkr dhft, %

etnwjh et+nwjksa dh la[;k

0—10 8

10—20 12

20—30 20

30—40 6

40—50 4

6. Calculate Bowley’s coefficient of skewness from the

following data :

W eigh t (k g) No. of person

85 15

90 18

95 25

100 19

105 15

110 7

115 28

120 12

125 11
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fuEu leadksa ls ckmys dk fo"kerk xq.kkad Kkr dhft, %

Hkkj (fdxzk-) deZpkfj;ksa dh la[;k

85 15

90 18

95 25

100 19

105 15

110 7

115 28

120 12

125 11

7. Calculate standard deviation from the following data :

X f

–2 4

0 2

2 3

4 5

6 7

8 3

10 2
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fuEufyf[kr vkdMks ls izeki fopyu dh x.kuk dhft, %

X f

–2 4

0 2

2 3

4 5

6 7

8 3

10 2

8. Using an approriate formula of interpolation. Find the

missing value from the given data :

X Y

10 25

20 30

30 –

40 38

50 48
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fuEu leadksa ls vkUojx.ku ds fdlh mi;qDr lw= dk iz;ksx djrs

gq, vKkr ewY; dk vuqeku yxkb, %

X Y

10 25

20 30

30 –

40 38

50 48

**************


